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10.395 % = 10395 7.2776 x =727.6
1.297 x =12.97 10.541 x = 10541
5.97 x =59.7 2.936 x = 2936
9.3 x =930 6.764 x = 67.64
7.929 x =792.9 10.813 x =108.13
5.52 x = 5520 6.258 x = 62.58
3.328 x = 3328 3.391 x = 3391
8.742 x =874.2 3.622 x = 3622
3.784 x =37.84 4.451 x =4451
7.166 X =71.66 8.519 x =85.19
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10.395 x 1000 = 10395 7.276 x 100 = 727.6

1.297 x 10 = 12.97

597 x 10 = 59.7

9.3 x 100 = 930

7.929 x 100 = 792.9

5.52 x 1000 = 5520

3.328 x 1000 = 3328

8.742 x 100 = 874.2

3.784 x 10 = 37.84

7.166 x 10 = 71.66

10.541 x 10 = 105.41

2.936 x 1000 = 2936

6.764 x 10 = 67.64

10.813 x 10 = 108.13

6.258 x 10 = 62.58

3.391 x 1000 = 3391

3.622 x 1000 = 3622

4451 x 10 = 44.51

8.519 x 10 = 85.19
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